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B. Com. (Part-I) Examination, 2015
Fifth Paper-(Business Statistics)

Note :- Answer five question in all. Short answer type Question No. 1
carrying 40 marks is compulsory. Answer one question carrying
15 marks from each Unit.

1. PrafoRea og 3o wedl & o) Afe- 4x10=40
Answer the following short answer questions-

(i) RS 3oR o 22 596 99" YR dH-8F I &°

What is a statistical unit? What are its different types?

(i) g smqfy faavor @on &2 Farevor wiga wwEmRl
What is bivariate frequency distribution? Explain with example.
(ili) diRToT THe & FHaoe # - s@ & am 3 @
mige? :

What points should be born in mind in the interpretation of
statistical data?

MGKVPonline.com MGKVPonline.com

WO AUIUOFAN DN

WX IWUOIA MO



Wod IUIUOJA DI

WO AUNUOJA YD

MGKVPonline.com

(iv)

(v)

(vii)

(vili)

(ix)

(x)

MGKVPonline.com

100 TEIHAT &1 WL 40 U A7) Tl MOFT & I & Ta
et ¥ 30 3R 27 o @ WA, 48 3R 28 F WM W @ FH
e qard |

Mean of 100 observations is found to be 40. If at the time of

computing two items are wrongly taken as 30 and 27, instead of
48 and 28. Find correct mean.

%%@W%W%ﬂﬂqwqmmml
oTeg = 45, HItAd! = 48 TAT fawAAT OIS = -0.4

From the following values find the standard deviation-
Mean = 45, Median = 48 and Coefficient of Skewness = - 0.4

N & o o 900 #iet Yenmer ¥ 60 Hia wie wer, 300 Het
99 ¥ 25 9 ufT "uel, 400 e g6 FES ¥ 350 et Ui
gueT aT 15 Hier o) gRT 25 WMot Wid goer & e ¥ [
Rl &1 Wt g # 39e! g ae a9 IEr?

N takes a trip which entails travelling 900 miles by train at 60
m.p.h, 300 miles by boat at 25 m.p.h, 400 miles by plane at 350
m.p.h. and 15 miles by taxi at 25 m.p.h. What is the average speed
for the entire journey?

A TR} F UL GRS TS A # 98 I@E & want
DI AT DI

Explain the use of scatter diagram in studying correlation between
two vanables.

e @an &2 T IvAfiaT saEe|

What is index number? State its utility.

e sifeel § o 3@ =AMV B -
X: 20 25 30 35 40 45
y: | 60 & ? 47l 75 8

following Interpolate the missing figure in the
‘ X : 20 25 30 35 40 45
y ! 60 66 ? 72 75 80

" Qg IS @R @ 3R 39 T DI
=T BT

"Business forecasting" is the eyes of modem business. Explain
this statement.

Unit-1 (3BTE-59)

2. i @t e aftum 5wl wifeae o e sase aa ada=
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g ¥ GiRegel & HeEd & GHFRe|

Give a proper definition of statistics. Explain limitations of statistics

and explain the importance of statistics in the present time.

3. (a) GOFT T FeEF sEal § 3R Sdaegel
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Distinguish between census and sampling investigation.
(b) "3 Y@ @ 87 What is Zee-Chart?
Unit-11 (378-lg<l)

4. S A0h F ofE N = 100 v e 3R GECIB HH: 25 TAT 24 &
A 37 BEl & T SR TN 40 36 § o9 I3F wa 5 8

Or
71,

7L,

3D

0-10

10-20

20-30

30-40

w05 |

14

27

15 !

If N = 100 and median and mode of the following series are 25 and 24

respectively find the number of students securing less than 40 marks.

Marks 0-10 | 1020 | 20-30 | 30-40 | 40-50
No. of Students| 14 27 15 |
Or

5. Fr=1 el & -

(31) ST ¥ .50% FIGY B 3T @ faER,

(§) S & 80% HIGI &I 3T & [awR,

(¥) T faaem & qone w1 DT,

T A BAZ | 0] 0 [30]4 [50] 60|70
TSl B Eer | 5| 8 |15 20 [0 BB

Find out the range of Income of :

(2) Middle 50%. of the workers

(b) Middle 80% of the workers
(c) Coefficient of Quartile Deviation of the following data :

Wages less than ¥

10

20

30

40

50

60

70

No. of workers

5

8

15

20

- :

33

35

6. ufa 3R ush & 3y & Frfefed Wi ot Uds & Jewa
ol ST Bifse der uRem R wolt Hifswe -
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qﬁﬁmmzsaossjmctssosseom
TN BN G |17 |24 28| R | B [B| 42| 51| %] 6

Calculate Karl Pearson's Coefficient of Correlation between the ages of
husbands and wives and comment on the result :

Age of Husband|20 | 25 | 30 | 35 |40 |45 | 50 | 55 60 | 70
Age of wife 17|24 | 28 | 32 38 | 42| 51| 5| &

.()Wsﬂinﬁﬂmmﬁﬁza?ﬁml

Distinguish between correlation and regression.
(b) FEMIEA 3@ & @&t @ & T aRRerfoddl F aer v i
T A Hadll &?

Why are there two regression lines? Under what conditions can
there be only one line?

Unit-1V (3&T5-aqel)

8. fodlt avg o1 aftfes Icure FrfoRea & ¢

| 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013
lra?qm(m‘rﬁ) 70| 80 | 9 | 9 | 102 | 110 | 115
e ot fifyr ¥ wa ey 3wk st i

The annual production of commodity is given as follows :
Year 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013
Production (in Tonnes) | 70 | 8 | 90 | 95 | 102 | 110 | 115

-

Fit a straight line trend by the method of least squares. Or

. (a) FFERIVA @ i SR @ we wueEdl

Explain clearly the Lagrange's method of interpolation.
(b) saTawe gafgaH & &8 Q& fagl o fadew aifswl

Describe any two theories of business forecasting.
®
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